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Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10
oo frarmRd TP Sed f -
(a) John Rawls is a liberalist / neo-
liberalist / neo-realist thinker.
( Choose the correct answer )
T AR, GO SAORTA [ A-SHEeRAl /
TR BT |
(% T MR Bfere )
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i (3)
gst the following i :
of the book, Politics A;":”l;g};;ﬁt:e writer () Where did the first NAM Summit held?
ns: Th
Struggle for Power and Peace? 3 NAM 3 244 e 37 (et 2
Pohiics Amo .
ng Nations : T
Jor Power and Peace mhe Siuggle () SEATO was formed in the year 1946 /
e 2 I 511 1947 / 1948 [ 1954.
(i) E. H. Carr ( Choose the correct answer )
2. 9%, I/ SEATO -558% [/ 584 | ss8v [/
5 s5¢8 5T a5 I 2R |
N ( % Teeh AR e )
(Y Sq1h
(i) Hans J. Morgenthau (g Adolf Hitler pioneered the Fascist
TR (). Yeofqey’ Movement in Italy.
(iv) Francis Fukuyama ( Write True or False )
FIBR T3 o B e eI e A
aiiii;%a |
( Choose the correct answer ) (= ¢ =8 o)
(¢ In which : (h) In which year did the Soviet Union
year d 2
Crisis begin? d the Cuban Missile collapse and separate into a number of
3% fgs . different countries?
SRRl o e e BefRAR oo (& R
d - La
(d) ‘I\i’?e S e oty of i oA 53w L ?
saw Pact beside Sovi : e
RFSES T aw Y e () Who instituted the reforms of ‘Glasnost’
I ABI T frn Warsaw Pactd 93 and Perestroika’ in Soviet Union?
|
fowEs  /FETe A IETIAIA 5
22A/44 CoRATRITA AT F(A ?
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(4) (S)

() Council of Westphalia was by nature @
a/an Sfrategic alliance / International
treaty / Peace treaty / Defenice treaty.

( Choose the correct answer )

Name any two regional organizations.

TP W01 SNeferss om0 = forey |

(e) Mention any two challenges of post-Cold

FfosToed SrEEEeEl “Ra SfRe (s War Russia.
@n [ wRAEE e / Nk pfe ) TERe Mos qad [e HR ARIA A 1o
5fE | ooz SeEd 3 |

(o= Teach! Az Sferea )

3. Answer any four of the following questions :
Sx4=20
2. Answer the following questions : 2x5=10

weTs wdl wPprER R Bt Teq B
SeTo RaT 2] Ted fos -

(a) Discuss the significance of the feminist

(a) Mention any two consequences of the approach in the study of International

Treaty of Westphalia in regard to

Relations.
International Relations. SRR IS wEe TR ‘fﬁsﬁﬁ?{
W@ﬁ’@? _ﬂﬁ'ﬁ'ﬁ Wﬁﬁ‘?@ STAECE A _R?WWW|

b Reren 151 Fereet Seay <1 |

(b) Write' ¥a note™ 'on “thelNcauses ol
disintegration of Soviet Union.

@St T AESTR TP e[

(b) Write any two reasons of the rise of
NIEO after the World War II.

St Ragae fize NIEOT BarR Rescan oo o B B |
PR fes |
(c) Write about the key features of Marxian
(c) What do you mean by the term ‘Third Approach to International Relations.
2
e REAEE  qEAfee  WHW e 3
wer R e 6 g 2 tafierT o |
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6
d) Di i
& N:C-E}zzr all?neﬂy 01.1 the I goncep t of (b) Explain Morgenthau’s six principles of
: T 1n nternational political realism. How is Neo-realism
Relations. 3 :
| different from realism? 6+4=10
HBABE IAEAoD 73-
©S T-SHRORATE [ T e et =B S
SHICATOAT 47 |
: F1 | -ABHEM (FCALT B <0 43 2
(¢) Write a note on the features of the Third o
World. CIES)
PO 43 RFRR oo «ft B o | Discuss the stages of development of
: International Relations as an academic
()  Mention the causes responsible for the discipline 10
emergence of alternative power centres ;
in post-Cold War period. e REg o @Ry I@Ared S
o Jad a8 e Row TReeB Barm ppi bl =l ah b
FIRPR SCFY 3797 |
(0 What is Cold War? Explain the phases
Answer the following questions : of Cold War. =l
TS 1 T T fore - qoet Ta 137 TMoet Tad SEHR IR0 911
(@) Explain the various phases of Or / 7341
eémergence of International State . = ;
system. 10 Discuss about e causes an
RICES) i IER YR R TR consequences of the World War II. 5+5=10.
URUISSIR faery ﬁ‘ﬂ'{'ﬂ FRA HF FAFPER AL
Or / 7121 1 |
Discuss the nature and subj
ject-matter 3 .
of the study of International Relations! (d) glscu: the features of Third World s
ountries.
4+6=10
A R e O R T TR T
[SRESEPERS e iz e i
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( 8)

Or / 71341

What is NAM? Discuss the significance
of NAM in the contemporary World

politics. 2+8=10
NAM fF7 somfis R I@Aifes NAMI
BTG A= HICeAw-l 41 |

* A %
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